EX. 4973

Problem 19.93 Each slender bar is 48 in. long and k- 281in ]
weighs 20 1b. Bar A is released in the horizontal posi- P —
tion shown. The bars are smooth, and the coefficient o
of restitution of their impact is e = 0.8. Determine the
angle through which B swings afterward.

E J
\ _ _ A //[j/////
Date. - 280 . 28 Pi C Y \
L 484 = 4 _V,t ‘
U: 20“3
C = 0.8
s lendey \oQ\"f b

Concc!\s._ L

X
(A US& YT"\n\'\g\L oQ \do\'& awd EU\QV-YS
’cb‘r ba v A \9 Q‘(.\J V(\OQ‘\H o"’
?O‘H\x T o(’ A t\ Yen Pw‘\‘.

(2) Vse coe Og\ (‘\t“x Q‘Q \-Q.(‘\ \\\l\"\wh )‘0 \-e\ &\(
Ve\ AN \' g &.x ¥ \;Q-Qn\—l wed QLQ"\(\» Vs p™ Q\- ‘\>
(3\ UC-L \'z’\d\c\o}r}t& x" \-C\Q.\K \lc\o,r:\kts x‘o aq\%\,\u\ \:e\gg\ el

3\ «A\N’ﬁ
(4) UJ—Q Pr\ o ?\l e,Q Q t\*&\l\ﬁ\” Lo Vv\(Q < "\0’ e
40 \e\ m\t \:Q\ o\ \?6\ oQ— N and B

() Vie Princighe of Work and EBrergl bor »
“0 AL\(\'M?& q«‘s\g '-\\-r:w%\,, w\;g& \:ur B N\\l‘\\_




(/{) U-Ie ’P‘--‘,t\ ?\Q DQ \Mo\'\l Q.t\o\ encv-cyx ‘fo\- LQ\" A

-Fincl "\e}s‘\n)r o‘Q uhkv o-Q e (s Oﬁ A cx\ ‘\mYuc“‘
3 [ d
S"w\‘b = % —_— P: L5 (—E- J

—‘-\:-ZQJ,P = (\’\;‘LQ”F\

qu&\nlt o‘Q (ehk\‘ oK LYY o‘() A q\ m‘,o\tk 2‘:’ -éCo.P
‘F\'om P\’\“t. ? °’Q \pg"\l \‘\A -e\‘QT‘S\S
e Jg = T
Uh’ f\ —_— S‘\'Ou-'\ efum \—ﬂ\‘
(o]
3
Urs =° 3 A'l\ol\& 4 ‘“A‘;Z_L
™ :‘« 2 IA w:
Vo\‘\\ \..\_“\)t \ kch—t«\’ o@ "\ee\-'\\u ‘52 A
p\ec’ YOS Q.\bnvx ?\h :Jg’\r\\
=D L) \ - ,( 1
E.z_/_ __Z:lALu:-/_;L(Bih,‘Ll)wl
.;—%_&. = ("th = ,wA= 33L)
L A -
Vn = Vo -+ Go\ X_\:‘./o = wak « (ZS*‘PC - Lm?{\\
5)




(7—3 US-( Coeﬂg i \en'\ DQ e sr“\‘\-u‘\\\ on

c = @*\;)x- (Q‘

Noe

'1h'\5,;Q\3 (\ e (Mx - (_‘-M’)x
vedd O

| — -(VM’)X e

(V;\")X = (-V-b‘l’ X
2 TN e )
k‘me \“w\\ cg

- i . 23
e = Vo & &) x ¥

\* ewAZcosP

(D Ve

IA y
: e * LAJA\Z X (Zs‘w.‘lb‘k —ZC‘*%&)\
5
B U./A‘-LCQSP{:_ + WRLS‘\“P%
Vor = Vo Sx? i ‘
By = e * Gup x \‘P/c = w.‘\zx (—\‘332 WL\A
o
_> -QLUAZCOAP = WA\LC(;»'\‘;* - ““S\"
s W':LQ,,P -WB‘LQ’SP
=>

- S Lup :WQ—WSl




(4) U&Q ‘)‘.\‘“Q“?\Q DQ u\\t\\/\q\’ \\m‘su\R Q\\& ™ 0Ohen \%\

o We asfvme an\& \\a?v\r\\'t Qn\'ct.\

ca\\\'\"\\a&r\( c)w"‘h\ h-n\auc‘\'

k.
D j G:\’/p" _ﬁ) A = Hnb(*z)— ab& (‘h)
ta |

t2
JEW <Y ab = Towsh. of
) T ';\z
=r> h S ’RJ-\ = -S.b(ub' = {(’\2&\ = ‘IE}_U_Q‘
’ A \'\
4

h . -
SN O SRR CA I A

A

.l
3t
*j’ (Zf"“P‘Ac— ZCo,PJ’D%(-Rt) ot - I“Wpt' Ly w,

b2
| CmP g—kaﬂ, « La (w,\‘-W.\\
A

= -1 <=p (I_\s_h(ga'>: T (wﬁ‘-WQ

=" ‘ = w%\ = (w\\ _WA» \

h-2 <o p

In - Is { we' = Wa (412)

Wa‘\-w;\ = ew* 2
=3> . o

L R )
(%) + W = W
B [\ A WY (A-2)




() V)-& e ’bf\\\\c.\\\l cfQ' (W .| Et\e.r—yx er D

L
Ur = T,- N
-Z_ZQ,Y _4
e 3 { y i
_m% 3=—m%(_54°"’y+-§_‘> 3
-2
R NS
7T2=0
A :_‘.‘ Ibwg' _’i‘ (LUA (J-}Q\) é éh L"L (w‘%‘t\)l

’7/3/{/(/4’ Co ¥ ) == é‘/éyl/(u./ﬁ (,He))"-

QA=) = 4L R (m\z L) (U1 )?

o e
3(1 Cor) = 3_\‘, Cng} + q cap ("T)'e)

4

\%w- = A= (442} cwp ‘

l . (’{' ) ‘*"(S-w (4 >\> I

h’: -100




